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16 | &+ 1500M 148 R 1 11:50 12:05
17 | BF 1500M 14 R 1 12:00 12:15
18 | &+ 1500M 2-3% R 1 12:10 12:25
19 | BF 1500M 2-34 R 1 12:20 12:35
20 | BF 3000M Ee i) R 1 12:35 12:50
21 | &F mE200M & 1 12:565 13:10
22 | BF giE400M Ha@E 1 13:05 13:20
23 | &F 4 x100MR 1-2% R 2 13:15 13:30
24 | BF 4 x100MR 1-2% H 2 13:25 13:40
25 | &F 4 x100MR @ TRk 2 13:35 13:50
26 | BF 4 x100MR H*i&E TRR B 2 13:45 14:00
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5 BF oY F&E fim h, #% K& 3 11:00 11:30
6 |%kF £ OBk et R 15 11:00 11:30
7 7 F fm A & K& R 10 12:00 12:30
8 ZF oY F&E fim h, #% K@ 1 12:00 12:30
9 B+ £ & B H@ R 9 12:00 12:30
10 | BF Ui E = Bk & 3 12:00 12:30




